
INTEGRAL CALCULUS: RULES OF INTEGRATION 1

6 REVSERSE CHAIN RULE

Differentiation - Power rule:

𝐹′(𝑥) = 𝑓′(𝑔(𝑥))𝑔′(𝑥)

Integration - Power rule:

�𝑓′(𝑥)[𝑓(𝑥)]𝑛𝑑𝑥 =
1

𝑛 + 1
[𝑓(𝑥)]𝑛+1 + 𝑐 𝑛 ≠ −1

Tips:

1. The Reverse chain rule is used to integrate

composite functions

2. You can check your answer by expanding the

function (if possible) first

3. The constant of a function can be moved out-

side the integral

Constant Multiple:

�
𝑏

𝑎
𝑘𝑓(𝑥)𝑑𝑥 = 𝑘�

𝑏

𝑎
𝑓(𝑥)𝑑𝑥 Any number 𝑘

�
𝑏

𝑎
−𝑓(𝑥)𝑑𝑥 = −�

𝑏

𝑎
𝑓(𝑥)𝑑𝑥 𝑘 = −1

4. Change roots/fractions to index power before

integrating 3/𝑥3 = 3𝑥−3

5. Simplify fractions by dividing numerator by

denominator (𝑥3 + 𝑥2)/𝑥 = 𝑥2 + 𝑥

6. When there are brackets, you can expand!

𝑥(2𝑥 − 9) = 2𝑥2 − 9

6.1 WORKED EXAMPLE

�(𝑎𝑥 + 𝑏)𝑛𝑑𝑥

6.2 WORKED EXAMPLE

�(2𝑥 + 1)2𝑑𝑥
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